July 12, 2018

Project Lead The Way, Inc. 3939 Priority Way South Dr., Suite 400 Indianapolis, IN 46240



Summary

PLTW Gateway (6-8)			\$6,757.00
Medical Detectives NEW			\$6,757.00
Durable			\$3,107.00
Item	Item Price	Qty	Total Price
Forceps, Fine-Point with Guide Pin, 4 1/2 inch	\$1.00	60	\$60.00
Medline Blood Pressure/Pulse Monitor	\$47.00	21	\$987.00
Plastic Pan - 8 quart (16 x 12.25 x 5.75 in)	\$4.00	4	\$16.00
Rubber Laboratory Apron, 27 inch x 42 inch, case of 25	\$200.00	5	\$1,000.00
Ruler, Clear Plastic, 15 CM / 6 IN, 10 pack	\$7.50	12	\$90.00
Safety Goggles, Anti-fog Indirect Vent	\$1.75	120	\$210.00
Spray Trigger Bottle - 16 oz	\$4.00	24	\$96.00
Stainless Steel Scalpel, 1 piece with cover	\$3.00	60	\$180.00
Stopwatch, handheld, LED	\$7.00	60	\$420.00
Test Tube Rack - Polyethylene	\$8.00	6	\$48.00
Consumable			\$3,650.00
Item	Item Price	Qty	Total Price
Colored pencils, 12 pack	\$4.00	30	\$120.00
Medical Detectives Consumable/Refill Kit (Ships Aug 2018)	\$800.00	4	\$3,200.00

Equipment and Supplies Subtotal \$6,757.00

\$2.75 120

Total \$6,757.00

PLTW Gateway Notebook

\$330.00

Total for Items Available in myPLTW Store \$6,757.00

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

PLTW Product List

Quote

Created: 07/12/2018

Expires: 10/10/2018

Address PLTW

3939 Priority Way South Drive

Suite 400

Indianapolis IN 46240

Website mypltw.org

Payment accepted Credit Card and Purchase Order

Discount code

Item	Item #	Item Price	Qty	Total Price
Colored pencils, 12 pack	470012-678	\$4.00	30	\$120.00
Forceps, Fine-Point with Guide Pin, 4 1/2 inch	WLS26475	\$1.00	60	\$60.00
Medical Detectives Consumable/Refill Kit (Ships Aug 2018)	470237-808	\$800.00	4	\$3,200.00
Medline Blood Pressure/Pulse Monitor	470303-304	\$47.00	21	\$987.00
PLTW Gateway Notebook	PLTWMSEN	\$2.75	120	\$330.00
Plastic Pan - 8 quart (16 x 12.25 x 5.75 in)	470003-390	\$4.00	4	\$16.00
Rubber Laboratory Apron, 27 inch x 42 inch, case of 25	470148-648	\$200.00	5	\$1,000.00
Ruler, Clear Plastic, 15 CM / 6 IN, 10 pack	470104-976	\$7.50	12	\$90.00
Safety Goggles, Anti-fog Indirect Vent	WLS40380-03E	\$1.75	120	\$210.00
Spray Trigger Bottle - 16 oz	470050-014	\$4.00	24	\$96.00
Stainless Steel Scalpel, 1 piece with cover	470005-454	\$3.00	60	\$180.00
Stopwatch, handheld, LED	470014-582	\$7.00	60	\$420.00
Test Tube Rack - Polyethylene	470148-800	\$8.00	6	\$48.00

PLTW Product List Total \$6,757.00

To place an order for the items included on this PLTW Product List, visit the myPLTW Store. Saved lists expire 90 days after being created or at the end of each calendar year.

Don't have a myPLTW account? To be added to your organization's account, please contact your Program Coordinator or the PLTW Solution Center at solutioncenter@pltw.org or 877.335.PLTW.

Attention: To avoid potential duplication of orders, and decrease the leadtime to obtain your supplies, we kindly ask that you return a copy of the approved purchase order to the requester

to complete the order via the Store in myPLTW. Please do not mail/email/fax the order to PLTW.

Equipment and Supplies

Equipment and Supplies Total is calculated based on the details you provided about your classes and the items selected.

Pricing

Prices are subject to change. Annual program participation and professional development registration fees are excluded from this total. Professional development fees may vary by state,

Standard shipping and processing charges are included for items available for order directly through PLTW. PLTW reserves the right to pass on additional shipping charges for orders shipped outside of the lower 48 contiguous states (i.e. Hawaii, Alaska, and Puerto Rico).

Sales Tax

Sales tax (where applicable) is not included in the total. Sales tax will be included at checkout.

Computer Hardware

Note that costs for computers, tablets, printers, and projectors are not included in the total. Refer to **PLTW's Computer Specifications** for details.

PLTW Returns Guidelines

Please visit our **Additional Resources** page to review Project Lead The Way's guidelines related to product warranties, handling of shipping errors, receipt of damaged products, and the return of equipment.